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West Bengal State University
B.A./B.Sc./B.Com. | Honours, Major, General ) Examinations, 2014

PART - 11

PHILOSOPH)' — HONOURS
: Paper ~ III
( NEW SYLLABUS & OLD SYLLABUS )

= _=zzon : 4 Hours | | Full Marks.: 100

Jz-Zidates are required to give their answers in their own words as fir as practicable.

The figures in.the margin indicate full marks.,

e ST e O T ey |
ATTY FRANOfT TR (e 1

{ NEW SYLLABUS )

Answer Question No.1 and any five from the rest.

1572 2P @ I ¥ G <Tiofd erpeR TR e

Answer any five questions [ Answer each question within 150 words ) :

5x5=125
= = AT ot S et (399 Seo Mo o I TS T ):
ai What is the distinction - betweefl knovﬂedge and opinion, according to
Plate ? | ‘
(AR TS TWH '@ SGAH TS 2N F 2
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-b) ‘ Explain Aristotle’s doétrine of Form and Matter.

PR @ GG TS ST &F <010t P |
cl - . Disc.u'ss'Descartes’ method of ﬁniversal doubt.
ISR ST FeT ST S FH |
d} How many types of ideas ér;e recognised by Descartes ? Briefly discuss.

TS TOUT (AT NI DEA 2 CH I FH7 |

e) . Briefly discuss the characteristics of Monads as admitted by Leibnitz.

MRS oot WRBIfT FRUwTA SIETsl e |

i How does Locke refute the existence of Innate ideas ?

7T PO TRETO YRTR AEHE AT FECH ?

g) -O'n what grounds does Bérkeléy reject the distinction betweén primary

and secondary qualities ?

@ (FF ez fsfote AEE 24 w91 ¢ Mt STw WU NS TRPR PR 2
h) .How does Hume distinguish between Impression and Ideas ?
R FrOIR Tgel 6 AN Ky AT AT 2

i) Is Berkeley’s subjective Idealism solipsistic ? Give reasons for your

answer.
TR WS ORA & TRe THEAR 7 SR TTEE Fes TP
i Distinguish between Analytic and Synthe'tic judgments, after Kant.

FFGCE TR IR NCARF @ TS NIIRCI 05 A1 FIA
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Answer any five questioné_( Answer eacht question within 6G0 words | : S5x15=75

mm#ﬁm@‘@aﬁm(@wwomﬂwyﬁmmwm }:

2. What according to Pléto is knowledge proper ? How does he a-rgue against the
view that sense-pei'cepti;:)n is knowledge proper ? 3+12
CHUBT (O 4P WA T ICT 7 TN oS oS W @T o T ol 5 7w
3fi Sicwe: G 7 | |

3. How does Descartes arrive at the principle, 1 thi.nk, therefore I am’ ? Explain the
implications of this principle. - ' 15
Gers Poia iy Bu IR, weaz W oy ai‘w@ﬁ'@mﬂaia@ﬁﬂ
siEe Slesrd fp, A w4 |

4. Explain and examine Sp_inoza’s t:heory of substance. D'oe”g He upho'ld the theory
of ‘one’ at the expense of ‘many’ ? Give reasons for your answer. 12+ 3
PoofAreT 7 TR SO SR A w1 R R s REWG aee oy
fizalae™ ¢ wemE SOET FoCF e Wa |

3. What does Leibnitz mean by the principle of ‘pre-established Harmony’ ? What is
the importance of this principle in his Metaphysics ? . 15
=neafier o-2fefs Wymrm T o @ @ s i f Wen ows A2

6. Why is Locke considered to be a representative realist ? Is his representative
realism consistent with his concept of Primary qualities ? ' 8+7
mere oifomdll TR T EW @ 2 A & ITE TG WOTA N O eifemmdl apa

i§ vwhese ¢
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7.

10.

11,

Give a critical account of Berkeley’s thesis “Esse est percipi”. _ 15

"oy eps-Prde — ke ¥ Afefba ReE an w0

On what grounds does Hume deny necessary connection between cause and

effect ? Discuss, | 15
o (FM Treree RET PR @ AT 09 WAMTTOR TOE TER TR 2 SET
TN ' .

What is God, according to Spinoza ? Expiain, after Spinoza, the relation between

God and the World. : _ _ : ' 10+ 5
ForigaTena WoS Soqw 13 2 Foolrens T SRRl TR @8 SEEe T AN I |

Consider Descartes’ doctrine of substance. How does Spinoza develop Cartesian

dualism in monism ? 8+7

FFI0ET FATY WEMEAT %A | Feirren PO (e (TSIM (T SR S
A7

What is the law of Silfficiél_'lt Reason ? Why does Leibnitz consider this World the
best of all possible Worlds ? 4+ 11

orefies g o B 7 NPT B GHITE TG KR TS N BePE T (T 2
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West Bengal State University
B.A./B.Sc./B.Com. (Honours, Major, General) Examinations, 2014 _
PART-II e
PHILOSOPHY - Honours
Paper- IV
( New Syllabus and Old Syllabus )
Duration ; -1 Hours . : Full Marks : 100

Candidates are required to give their answers m their orwon words as far as practicable.
The figures in the margin indicate full marks,

T YT O ST (I g |
afREg FRANOR R oires |

( New Syllabus )
Answer Q. No. 1 and any stx questions taking two
from each of groups A, B and C.

> R 2 3 Reist 7, o 6 5 afSl (e ufb mmﬁm@mﬁm 1

Answer any five questions : 9x2=10
ay Symbolize the following :

EICEE R

. (i) pifandoniyifg
p, 3t R (@ ;M g
(i1} qisa necessary' condition for p.
g, p~4aq @lﬁﬁ‘ﬂﬁs*ﬁf b
What is the difference between exclusive and non-exclusive disjunctién ?

Teqil @ W] Sq-ag S AT (FIAT 2
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¢)

€}

g

h)

i}

J)

2

Write two limitations pf Existential Instantiation ( E.L. }

£l Tfen qT et fig |

What is truth furqctidn ? Give an example .

TAEATS IS I ¢ Gl Suigad i |
What is 'Indirect Proof (1. P. ) 7
ATAE YA+ BT I 7

Translate the following sentence into Boolean notation and then express

in terms of Venn diagram :
There are white elephants, _ _
FrRIs IFHEE T FIHTS 2mm] I (SABER TTH e 33 8

il 2fS e

Explain with example the distinction between 'Statement' and 'Statement.

Form'?

BT I’ 938 I -G HOSH ] 5 |

If p. g is true, then determine the truth value of .the statement form
(p=gqg}. p.'

W p. g TSI (p = q) .p-—aa'ﬁtﬁmﬁaﬁww;

What are two claims made by Mill about his methods ?

Mill TR sEReE s @l vk o o S ) 2

Give the form of the Joint method of Agreement and Difference.

~ =

TEE - AT AT | HEfed TEE (WU |
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2. a) Answer the'following questions ; | 3x2=6

it emofer s i |

{'i_} What is the negation of a tautology and why ?
G =yorel Qe Rem 1wy F1 9w o 2

{ii) Whal js the negation of a contingent statement form and why ? -
el weAfEe ARRIFIGR RFaTas ) @R (3 7

(ﬁl] What is tile negation of a self cont}’adictory statement ? Why ?
@t FRENE AR s W 2@ 0

b) Determine whether the following statement form is tautology. self-

contradictory or contingent by means of truth-table : 2x3=6
STopTRA AR RN oo ot Taer, TRy o ensifod o Fiok 2 3
) (p=q)V (~ps ~q)
W [(psql.(pop)]>(q.~q)
c} Test the validity. of the f_olowmgl allgument_ by truth table methed, 3
e T M R taerel R e
(IVJd) 3 {1.J) |

~(IVJ )/ oo ~ (1. J)
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3.

a)

. by

4

Construct formal preof of validity of the fbllowmg arguments. ' Do not
use C.P. or L.P.) ' 323=9

e Yfeofm aerne tarer ou9 WA 1(C.P. 3 1LP. T TN I

i}

Y

)

(1) (J.K}oL

"(2) {(JoL)oM

38) ~KVN/-.KS5(M.NJL" .

Ram will come if and only if Shyam or Jadu eomes. If Jadu comes
then Ram will not come. Therefore, either Ram will come or if Jadu
comes then Shayvam will come. '

AN ST TR @R (eI T A R A S % T Wi, SIEE O
TP 7 | AL 1Y A W Roean 1 1w Siew orEee = wIpia |

if the aeroplane had engine trouble. it would have landed at
Dum Dum. If the aeroplane did not have engine trouble, it would
have landed at Guwahati. The aeroplane did not land either at
Dum Dum or Guwahati. Therefore. the aeroplane must have
landed at Shaktigarh.

o R BfaE Y RS, ST wE At A feete B
WY Al ARSI, O W ¢hRbre amrst Rl wawen wwd (Mifice
s | oA Kl SRR = Saie T |

Prove the invalidity of the following arguments by the method of
assigning truth values : _ 2x3=6

Wﬁmﬂﬁ%ﬁmﬁwg@@%ﬁm«ﬁwqms

(i)

_J'n [K..’JL-}. (ii) X={y=-2z)

Ko(~L>M)  Ys(~x.~Z)

(LVM)oN /- Jd>5N Z=(XV~-y)
Y/ XVZ
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4, aj What is counter example ? Expialn wl_th exam p'l'e. : 4
_WqWﬂmWMWW o

b} Use truth- tree method to determine whether the rollowmg propositions

are consistent. . : : : ' 4

ﬂwﬁwﬁw%ﬁmwﬁmﬂﬁvﬁﬁmﬁmm i
A—-CB>C—A—A—>—C

(:'l.: Use truth-tree method to test the validity of the fol.lowing :
ropd srfore Rares s Lavel Rora w9 |

Mortarty will escape unless Holmes acts. We shall rély on Watson only if
Holmes does not act. Therefore, if Holmes does not act, Moriarty will
escape unless we reiy on Watson. o 4

aﬁmﬁﬁaﬁ-@waﬁmmwm imemwﬁmﬁéaww
(@3 AW CRIT G A IR | ISR WW (N I W, Wﬂﬁmﬁqﬁmw
T 1 w1 SRibATE $ora a1

d) Determine whether following stateméents are equivalent : 3

e Aol s fea Fdy e e

A~{AqBLA&;R.

5. a) Explain with an example the method of Condltiona.l Proof. 3

mﬁﬁwmvmmmﬁwwm%ﬁwmmmn

b Prove the validity of the following argument by CP o - 4
C.P. ﬁﬂmmﬁﬁﬁiﬁ@qﬁﬁtﬂmmqﬁm
(AVB Yo ( Cc.D l

I(DVELDFLﬂAnF
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) Use the method of indirect proof to verify that the following statements

are tautologous. - : 2x 4
AT 2L A HZI AN T (7 WS amreld T |
M- A/ BV(B>C)

W A=[Aa.(AavB)]

.Group - B
et -9
8: . Test the validity of the following arguments by Venn diagram indicating the
mood and figure of each of them, ‘ 3x5=15

ﬁ%mqﬁemﬂm@mﬂmﬁﬁﬁﬁwqﬁmﬁamwkmﬁmw | |

a)’ All worldly things are transitory, because no worldly thing is nen-

T

material, and no material object is non-transizony.

w7 Hifdfa Tom SiFTEPNE, TR (PR AT 7w w-FT 77 9 OF oy A
BRSNS 7 |

b} Only teachers were present in the seminar. some scholars were present

in the.seminar. So some scholars are teacher.

T Frerais ARG By fem, Ry omses amR 3T B 5o
%gﬁmﬁmx

c} All glittering things are not gold. So, Gold is not only precious stone

because precious stone glitters.

HIGP FACHE (1 8 A ) TSR (IR SFT FIM 41 7T FIAY PR 4P 5F5T
A | '
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7. a) Explal_n.with-.éxample the 'concep_t of 'class' and ‘complementary class’. 5
CHIZRPTRLAA (AT’ @32 *oHfsjge Y I 33 |

b) According to the Boolean interpretation, determine validity of the mood

AAL, S | - 6
37 TORPTIR AL R Taxe) Refa e |

.c) Give Boolean notation of the following sentences and represent them in

'\_/enn diagram. | _ 2x 2
I{i) People seldom know themselves

wifbe WgH MeTE O
(i-i} No non-s aré poh-p.-

@RS sTG-p |

.a) Explain with example the principle of Universal Instantiation. 3

8
- WITReE AIS TOREReact s 71 I |
B - Construct forrnai-p;roof of.validity for the foliowing arguments. 3 x4
Tva I ofim TRE@ITS 2T A5 T |

W (1) (0 [Axs(Bx . Cx)]

{2) (Ax)(Ax.Dx}/ . (3Ix}(Bx.Dx)

fSUB.-B..A.[HN]-PHlA-95564| [ Turn over
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;[;ﬂ) Gold is valuable ngs are orna.ments So gold rings are valuable_'
ornaments. '

msfwlwﬁfﬂ_mm;q—w. amwﬁmwm |
(41 Wolfhou'nd ‘and Terriers are ‘hunting dogs. Hunting dogs are
domcstlcated animals. Domesticated animals are gentle and 'useful. .

'Some Wolfhounds are neither gentle nor small. So, some Terriers
are small b_ut not gentle, '

Wollhound 98 Terriers Fift 333 | Pl 39 sesifre oy | Jeiffrs
&g IR @32 BAFRT | Y Wolfhound *IFE A (F6 @RS =311 Joar Ry
Terrier (26 5@ =G w7 |

9. a) Symbolize the fﬁllowing .sen'tences by using quantifiers, variable etc.
o - o 3x2
Rafes armsfs ade RearE-as TR e =
(i} - All boys and girls of this class arc meritorious
8 PG A (A 438 (R G
(i} No car is safe unless it has good brakes
o G137 T O I (g 2T
(iii) Men and men alone are rational.
TR @42 9PN WS e g |
b} Determine the invalidity of the following arguments by lhe method of
' ~ truth value assigﬁment h Ix3

%ﬁmwmmmﬁwmﬁa WLALE] 2 T 3
{i]'- (%) { Hx:: -!xl

: {_Elx] {Jdx.~Ix) /. {x) ( HxoJx)
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(ii) Some thing is round. Some thing is square. So, there are round
-squares. ' : ' _

(W P TG NI | @R QW I TwE (IR R ofewa
S | ' : '

{ii)  Therets nothing made of tin that is not cheap. No rings are made -
of lead. Not everything is either tin or lead. Therefore, not all
rings are cheap.

for fAfife w58 @2 ot w9l 71 | (W wikBE A fiffe g | aw
w5, %1 o2 2a ow fecat a1 Toar Aoq sibE s« |

Group - C
tet - of
10. Discuss critically Mill's method of Concomitant variation as a method of proof '
and a method of discovery. o _ ' 15

i e 2o (s Aot Rivera o R s1afS AR SIS w9
11 What is Hypothesis ? Critically examiné'fﬁe crit.eria .of evaluating hypothesis;
| | | 3+ 12
SIFE P q(F 2 e Tl Semeuf ARG S S5 |
12.  Write short notes bn the following : | . 2x ?é- =15
RufiRwofita Gom sehee e Figa s
(i) Sciéntific explanation
Cawifeta qpp

i Crucial experiment,

fesfrarss o131l
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13.

10

Calculate the probability of the'fdllowing cases ; . o 3x5=15

Mrpa craslEa sTeiars! i 73

)

(it)

~A1i1)

What is the probability of getting at least one 1 in two tosses of a dice ?

| ﬁﬁwwqw-‘mﬁmw-ﬂm(s)em%ﬁmw ?

There are 6 yellow balls, 12 blue balls and 18 red balls in a box. What is _
the probability of getting three balls of the same colour in drawing three
balls from the box (a} If each ball ts returned before drawing the next

ball, (b} if no ball is returned beforc the next draw 7

4% oAra 6 B 2o 3w, 12 B Tt 2 @ag 18 B o a8 sy | el ure o
IF Terd foAag GFAe geUd ATIS! ¢ (a) A AT o T Hraq =
(SRR ©S (AR (TS TF (b)) (BN (IRl 961 *LAT I (O S (FAL A

e T ?

What is the probability of getting either a spade or the ace of diamond in

drawing a card from a deck of playing cards ?

4l O R (2 T o re el WP B S W (5 26T

YRS T 2
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